Celkové vysledky

MCR hry Plamen 2012/2013

25.-26.5.2013, Praha-Stromovka
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1 Reporyje A 1 8 1 2 1 1 0 14 1 Dolni mécholupy A 2 2 3 1 2 2 0 12
2 |Pisnice A 5110|1411 [12] 10| O 62 2 |Reporyje A 1 8 1 2 1 1 0 14
3 |zicin A 3 1 2 3 3 4 0 16 3 |Zlic¢in A 3 1 2 3 3 4 0 16
4 |Trebonice B - Dracci 17 | 11| 13 [ 14 | 11 9 0 75 4 |Stodulky A 9 4 4 4 6 3 0 30
5 ]Suchdol 24 5 | 11 9 [ 14 ] 12| 20| 95 5 |Reporyje B 7 3 51116 | 4 5 0 40
6 |Dolni mécholupy A 2 2 3 1 2 2 0 12 6 |Trebonice A - Soptici 6 | 15| 8 8 8 6 0 51
7  |Stodllky A 9 4 4 4 6 3 0 30 7 |Cholupice A 16| 15| 7 7 51 11 0 61
8 |Zlicin B 4 |14 |16 [ 10| 13| 12| O 69 8 |Pisnice A 5|10 14|11 [12] 10| O 62
9 |JLochkov A 13| 6 9 | 13]10]| 12| O 63 9 |Lochkov A 13 ] 6 9 [ 13]10] 12| O 63
10 |Trebonice A - Soptici 6 | 15| 8 8 8 6 0 51 10 |Lipence 181 9 6 | 15| 7 8 0 63
11 |Dablice A 22 (15|10 6 | 14 [ 12| 20 | 99 11 |Dolni Mécholupy B 8 |12 17| 5 (14| 12] O 68
12 |Lipence 18] 9 6 | 15| 7 8 0 63 12 |Repy A - Pidata 1911 7 |15 12| 9 7 0 69
13 |Reporyje B 7 3 5116 | 4 5 0 40 13 |Zlicin B 4 114116 [ 10|13 ] 12| O 69
14 |Cholupice A 16 | 15| 7 7 5]111] 0 61 14 |TFebonice B - Dracci 17 1 11| 13 [ 14| 11 ] 9 0 75
15 |Repy A - Pidata 19 7 |15 12| 9 7 0 69 15 [Stodulky B 14 113|112 |17 [ 14 ] 12| 0O 82
16 |Dolni Mécholupy B 8 |12 | 17| 5 [ 14 ] 12| 0O 68 16 |Suchdol 24| 5 | 11| 9 [ 14| 12 ] 20| 95
17 |Stodllky B 14 (13112 |17 |14 ([ 12] O 82 17 |Dablice A 22 (15|10 6 | 14| 12| 20] 99
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1 Horni Mécholupy 13| 4 9 8 8 8 0 50 1 Reporyje A 2 1 1 1 1 1 0 7
2 |Dolni Mécholupy 4 8 4 6 6 5 0 33 2 |Stodllky A 1 2 2 2 2 2 0 11
3 |Lipence 8 7 7 3 5 7 0 37 3 |Repy 5 5 5 5 3 3 0 26
4 ]Lochkov 10| 3 6 7 4 4 0 34 4 |Cholupice A 7 6 3 4 7 6 0 33
5 [Cholupice A 7 6 3 4 7 6 0 33 5 |Dolni Mécholupy 4 8 4 6 6 5 0 33
6 |Stodilky A 1 2 2 2 2 2 0 11 6 |Lochkov 10| 3 6 7 4 4 0 34
7 |Reporyje A 2 1 1 1 1 1 0 7 7 |Lipence 8 7 7 3 5 7 0 37
8 |Repy 5 5 5 5 3 3 0 26 8 |Horni Mécholupy 13| 4 9 8 8 8 0 50
9 [Nebusice 141 9 8 9 9 8 |20 77 9 |Nebusice 141 9 8 9 9 8 |20 77




